## LOSTINE Fall 2023 Price List

	Style #	Category	Name	Color	Item Size	Wholesale Price	Min Qty	MSRP	MAP	Trade	Drop Ship
	7041S	Kitchen	Cubist Board - Small	Maple	17½" L x 8¾" W x 1½" H	-	-	\$225.00	\$225.00	\$191.25	_
	7041L	Kitchen	Cubist Board - Long	Maple	29¼" L x 7¾" W x 1½" H	-	_	\$275.00	\$275.00	\$233.75	-
	7041SQ	Kitchen	Cubist Board - Square	Maple	23¾" L x 13¼" W x 1½" H	-	-	\$325.00	\$325.00	\$276.25	-
	6544CA	Mirrors	Norse Mirror - Circle	Au Lait	30" DIA x 1½" D x 3" W	\$842.50	2	\$1,685.00	\$1,685.00	\$1,432.25	\$1,011.00
0	6544CC	Mirrors	Norse Mirror - Circle	Cinder	30" DIA x 1½" D x 3" W	\$842.50	2	\$1,685.00	\$1,685.00	\$1,432.25	\$1,011.00
	6544RA	Mirrors	Norse Mirror - Rectangle	Au Lait	32" x 24" x 1½" D x 3" W	\$842.50	2	\$1,685.00	\$1,685.00	\$1,432.25	\$1,011.00
	6544RC	Mirrors	Norse Mirror - Rectangle	Cinder	32" x 24" x 1½" D x 3" W	\$842.50	2	\$1,685.00	\$1,685.00	\$1,432.25	\$1,011.00
	6544OA	Mirrors	Norse Mirror - Oval	Au Lait	48" x 27" x 1½" D x 3" W	\$925.00	2	\$1,850.00	\$1,850.00	\$1,572.50	\$1,110.00
0	6544OC	Mirrors	Norse Mirror - Oval	Cinder	48" x 27" x 1½" D x 3" W	\$925.00	2	\$1,850.00	\$1,850.00	\$1,572.50	\$1,110.00
	7028CA	Lighting	Cora Table Lamp	Aspen - Black Linen Shade	Total Height: 25¾"   Base: 19¼" H x 7½" Diameter   Shade: 18¼" H x 7" W (Top) x 19" W (Bottom)   Cord: 10' L	\$475.00	2	\$950.00	\$950.00	\$807.50	\$570.00
	7028CA	Lighting	Cora Table Lamp	Aspen - White Linen Shade	Total Height: 25%"   Base: 19%" H x 7%" Diameter   Shade: 18%" H x 7" W (Top) x 19" W (Bottom)   Cord: 10' L	\$475.00	2	\$950.00	\$950.00	\$807.50	\$570.00
	7028CW	Lighting	Cora Table Lamp	Walnut - Black Linen Shade	Total Height: 25%"   Base: 19%" H x 7%" Diameter   Shade: 18%" H x 7" W (Top) x 19" W (Bottom)   Cord: 10' L	\$542.50	2	\$1,085.00	\$1,085.00	\$922.25	\$651.00
	7028CW	Lighting	Cora Table Lamp	Walnut - White Linen Shade	Total Height: 25¾"   Base: 19¼" H x 7½" Diameter   Shade: 18¼" H x 7" W (Top) x 19" W (Bottom)   Cord: 10' L	\$542.50	2	\$1,085.00	\$1,085.00	\$922.25	\$651.00
	7028MA	Lighting	Malcom Table Lamp	Aspen - Black Linen Shade	Total Height: 28½"   Base: 21½" H x 6½" Diameter   Shade: 11½" H x 17½" W (Top) x 18" W (Bottom)   Cord: 10' L	\$490.00	2	\$980.00	\$980.00	\$833.00	\$588.00
	7028MA	Lighting	Malcom Table Lamp	Aspen - White Linen Shade	Total Height: 28½"   Base: 21½" H x 6½" Diameter   Shade: 11½" H x 17½" W (Top) x 18" W (Bottom)   Cord: 10' L	\$490.00	2	\$980.00	\$980.00	\$833.00	\$588.00
	7028MW	Lighting	Malcom Table Lamp	Walnut - Black Linen Shade	Total Height: 28½"   Base: 21½" H x 6½" Diameter   Shade: 11½" H x 17½" W (Top) x 18" W (Bottom)   Cord: 10' L	\$590.00	2	\$1,180.00	\$1,180.00	\$1,003.00	\$708.00
	7028MW	Lighting	Malcom Table Lamp	Walnut - White Linen Shade	Total Height: 28½"   Base: 21½" H x 6½" Diameter   Shade: 11¾" H x 17½" W (Top) x 18" W (Bottom)   Cord: 10' L	\$590.00	2	\$1,180.00	\$1,180.00	\$1,003.00	\$708.00
	7028OA	Lighting	Onslow Table Lamp	Aspen - Black Linen Shade	Total Height: 34¼"   Base: 26" H x 6" Diameter   Shade: 11¾" H x 17¼" W (Top) x 18" W (Bottom)   Cord: 10' L	\$490.00	2	\$980.00	\$980.00	\$833.00	\$588.00

	7028OA	Lighting	Onslow Table Lamp	Aspen - White Linen Shade	Total Height: 34¼"   Base: 26" H x 6" Diameter   Shade: 11¾" H x 17¼" W (Top) x 18" W (Bottom)   Cord: 10' L	\$490.00	2	\$980.00	\$980.00	\$833.00	\$588.00
	7028OW	Lighting	Onslow Table Lamp	Walnut - Black Linen Shade	Total Height: 34½"   Base: 26" H x 6" Diameter   Shade: 11½" H x 17½" W (Top) x 18" W (Bottom)   Cord: 10' L	\$590.00	2	\$1,180.00	\$1,180.00	\$1,003.00	\$708.00
1	7028OW	Lighting	Onslow Table Lamp	Walnut - White Linen Shade	Total Height: 34%"   Base: 26" H x 6" Diameter   Shade: 11%" H x 17%" W (Top) x 18" W (Bottom)   Cord: 10' L	\$590.00	2	\$1,180.00	\$1,180.00	\$1,003.00	\$708.00
	7028OAF	Lighting	Onslow Floor Lamp	Aspen - Black Linen Shade	Total Height: 65%" H   Base: 52%" H x 10" DIA   Shade 16" H x 23" (Top) x 24" Diameter (Bottom)   Cord: 10' L	\$1,070.00	2	\$2,140.00	\$2,140.00	\$1,819.00	\$1,284.00
I	7028OAF	Lighting	Onslow Floor Lamp	Aspen - White Linen Shade	Total Height: 65%" H   Base: 52%" H x 10" DIA   Shade 16" H x 23" (Top) x 24" Diameter (Bottom)   Cord: 10' L	\$1,070.00	2	\$2,140.00	\$2,140.00	\$1,819.00	\$1,284.00
T.	7028OWF	Lighting	Onslow Floor Lamp	Walnut - Black Linen Shade	Total Height: 65%" H   Base: 52%" H x 10" DIA   Shade 16" H x 23" (Top) x 24" Diameter (Bottom)   Cord: 10' L	\$1,242.50	2	\$2,485.00	\$2,485.00	\$2,112.25	\$1,491.00
L	7028OWF	Lighting	Onslow Floor Lamp	Walnut - White Linen Shade	Total Height: 65%" H   Base: 52%" H x 10" DIA   Shade 16" H x 23" (Top) x 24" Diameter (Bottom)   Cord: 10' L	\$1,242.50	2	\$2,485.00	\$2,485.00	\$2,112.25	\$1,491.00
	7020P	Lighting	Lola Sconce - Antique Brass/Walnut/Plug In	Stoneware Robin's Egg Ceramic, Leather, Antique Brass, Black Walnut	Shade: 6¼" H x 6½" DIA   12" From Wall   19" H   Backplate: 5" DIA   Cord: 10½"	-	-	\$1,540.00	\$1,540.00	\$1,309.00	-
	7020P-C	Lighting	Lola Sconce - Antique Brass/Walnut/Plug In	Stoneware Cream Ceramic, Leather, Antique Brass, Black Walnut	Shade: 6¼" H x 6½" DIA   12" From Wall   19" H   Backplate: 5" DIA   Cord: 10½"	-	-	\$1,540.00	\$1,540.00	\$1,309.00	-
	7020P-D	Lighting	Lola Sconce - Antique Brass/Walnut/Plug In	Stoneware Dove Ceramic, Leather, Antique Brass, Black Walnut	Shade: 6¼" H x 6½" DIA   12" From Wall   19" H   Backplate: 5" DIA   Cord: 10½"	-	-	\$1,540.00	\$1,540.00	\$1,309.00	-
	7021P	Lighting	Lola Sconce - Satin Brass/Maple/Plug In	Stoneware Robin's Egg Ceramic, Leather, Antique Brass, Black Walnut	Shade: 6¼" H x 6½" DIA   12" From Wall   19" H   Backplate: 5" DIA   Cord: 10½"	-	-	\$1,540.00	\$1,540.00	\$1,309.00	-
	7021P-C	Lighting	Lola Sconce - Satin Brass/Maple/Plug In	Stoneware Cream Ceramic, Leather, Antique Brass, Black Walnut	Shade: 6¼" H x 6½" DIA   12" From Wall   19" H   Backplate: 5" DIA   Cord: 10½"	-	-	\$1,540.00	\$1,540.00	\$1,309.00	-
	7021P-D	Lighting	Lola Sconce - Satin Brass/Maple/Plug In	Stoneware Dove Ceramic, Leather, Antique Brass, Black Walnut	Shade: 6¼" H x 6½" DIA   12" From Wall   19" H   Backplate: 5" DIA   Cord: 10½"	-	-	\$1,540.00	\$1,540.00	\$1,309.00	-
•	7020	Lighting	Lola Sconce - Antique Brass/Walnut/Hardwired	Stoneware Robin's Egg Ceramic, Leather, Antique Brass, Black Walnut	Shade: 6¼" H x 6½" DIA   12" From Wall   19" H   Backplate: 5" DIA   Cord: 10½"	-	-	\$1,540.00	\$1,540.00	\$1,309.00	-
•	7020-C	Lighting	Lola Sconce - Antique Brass/Walnut/Hardwired	Stoneware Cream Ceramic, Leather, Antique Brass, Black Walnut	Shade: 6¼" H x 6½" DIA   12" From Wall   19" H   Backplate: 5" DIA   Cord: 10½"	-	-	\$1,540.00	\$1,540.00	\$1,309.00	-
	7020-D	Lighting	Lola Sconce - Antique Brass/Walnut/Hardwired	Stoneware Dove Ceramic, Leather, Antique Brass, Black Walnut	Shade: 6%" H x 6%" DIA   12" From Wall   19" H   Backplate: 5" DIA   Cord: 10%"	-	-	\$1,540.00	\$1,540.00	\$1,309.00	-
•	7021	Lighting	Lostine - Lola Sconce - Satin Brass/Maple/Hardwired	Stoneware Robin's Egg Ceramic, Leather, Antique Brass, Black Walnut	Shade: 6¼" H x 6¼" DIA   12" From Wall   19" H   Backplate: 5" DIA   Cord: 10½"	-	-	\$1,540.00	\$1,540.00	\$1,309.00	-
	7021-C	Lighting	Lostine - Lola Sconce - Satin Brass/Maple/Hardwired	Stoneware Cream Ceramic, Leather, Antique Brass, Black Walnut	Shade: 6%" H x 6%" DIA   12" From Wall   19" H   Backplate: 5" DIA   Cord: 10%"	-	-	\$1,540.00	\$1,540.00	\$1,309.00	-
<b>D</b> 50-	7021-D	Lighting	Lostine - Lola Sconce - Satin Brass/Maple/Hardwired	Stoneware Dove Ceramic, Leather, Antique Brass, Black Walnut	Shade: 6¼" H x 6½" DIA   12" From Wall   19" H   Backplate: 5" DIA   Cord: 10½"	-	-	\$1,540.00	\$1,540.00	\$1,309.00	-

	7018SB	Lighting	Lola 5 Arm - Satin Brass	Stoneware Robin's Egg Ceramic, Leather, Antique Brass, Black Walnut	Custom drop height available. Select your drop requirement at time of purchasing. Standard overall drop height: 36" H   Minimum overall drop height: 36" H   Longer drop can be customized for add'l fee.	-	_ \$5,540.00	\$5,540.00	\$4,709.00	-
	7018SB-C	Lighting	Lola 5 Arm - Satin Brass	Stoneware Cream Ceramic, Leather, Antique Brass, Black Walnut	Custom drop height available. Select your drop requirement at time of purchasing. Standard overall drop height: 36" H   Minimum overall drop height: 20" H Maximum overall drop height: 36" H   Longer drop can be customized for add'l fee.	-	_ \$5,540.00	\$5,540.00	\$4,709.00	-
	7018SB-D	Lighting	Lola 5 Arm - Satin Brass	Stoneware Dove Ceramic, Leather, Antique Brass, Black Walnut	Custom drop height available. Select your drop requirement at time of purchasing. Standard overall drop height: 36" H   Minimum overall drop height: 20" H Maximum overall drop height: 36" H   Longer drop can be customized for add'l fee.	-	_ \$5,540.00	\$5,540.00	\$4,709.00	-
	7017SB	Lighting	Lola 3 Arm - Satin Brass	Stoneware Robin's Egg Ceramic, Leather, Antique Brass, Black Walnut	Custom drop height available. Select your drop requirement at time of purchasing. Standard overall drop height: 36" H   Minimum overall drop height: 20" H Maximum overall drop height: 36" H   Longer drop can be customized for add'l fee.	-	_ \$3,750.00	\$3,750.00	\$3,187.50	-
	7017SB-C	Lighting	Lola 3 Arm - Satin Brass	Stoneware Cream, Leather, Antique Brass, Black Walnut	Custom drop height available. Select your drop requirement at time of purchasing. Standard overall drop height: 36" H   Minimum overall drop height: 20" H Maximum overall drop height: 36" H   Longer drop can be customized for add'l fee.	-	_ \$3,750.00	\$3,750.00	\$3,187.50	-
	7017SB-D	Lighting	Lola 3 Arm - Satin Brass	Stoneware Dove, Leather, Antique Brass, Black Walnut	Custom drop height available. Select your drop requirement at time of purchasing. Standard overall drop height: 36" H   Minimum overall drop height: 20" H Maximum overall drop height: 36" H   Longer drop can be customized for add'l fee.	-	_ \$3,750.00	\$3,750.00	\$3,187.50	-
	7016SB	Lighting	Petite Lola - Satin Brass, Robin's Egg Ceramic	Stoneware Robin's Egg Ceramic, Leather, Antique Brass, Black Walnut	Custom drop height available. Select your drop requirement at time of purchasing. Standard overall drop height: 36" H   Minimum overall drop height: 20" H Maximum overall drop height: 36" H   Longer drop can be customized for add'l fee.	-	_ \$3,580.00	\$3,580.00	\$3,043.00	-
	7016SB-C	Lighting	Petite Lola - Satin Brass. Cream Ceramic	Stoneware Cream Ceramic, Leather, Antique Brass, Black Walnut	Custom drop height available. Select your drop requirement at time of purchasing. Standard overall drop height: 36" H   Minimum overall drop height: 20" H Maximum overall drop height: 36" H   Longer drop can be customized for add'l fee.	-	_ \$3,580.00	\$3,580.00	\$3,043.00	-
	7016SB-D	Lighting	Petite Lola - Satin Brass, Dove Ceramic	Stoneware Dove Ceramic, Leather, Antique Brass, Black Walnut	Custom drop height available. Select your drop requirement at time of purchasing. Standard overall drop height: 36" H   Minimum overall drop height: 20" H Maximum overall drop height: 16" H   Longer drop can be customized for add'l fee.	-	_ \$3,580.00	\$3,580.00	\$3,043.00	-
	7016	Lighting	Petite Lola - Antique Brass, Robin's Egg Ceramic	Stoneware Robin's Egg Ceramic, Leather, Antique Brass, Black Walnut	Custom drop height available. Select your drop requirement at time of purchasing. Standard overall drop height: 36" H   Minimum overall drop height: 20" H Maximum overall drop height: 10" H   Longer drop can be customized for add'l fee.	-	_ \$3,580.00	\$3,580.00	\$3,043.00	-
V.	7016C	Lighting	Petite Lola - Antique Brass, Cream Ceramic	Stoneware Cream Ceramic, Leather, Antique Brass, Black Walnut	Custom drop height available. Select your drop requirement at time of purchasing. Standard overall drop height: 36" H   Minimum overall drop height: 20" H Maximum overall drop height: 10" H   Longer drop can be customized for add'l fee.	-	_ \$3,580.00	\$3,580.00	\$3,043.00	-
	7016D	Lighting	Petite Lola - Antique Brass, Dove Ceramic	Stoneware Dove, Leather, Antique Brass, Black Walnut	Custom drop height available. Select your drop requirement at time of purchasing. Standard overall drop height: 36" H   Minimum overall drop height: 20" H Maximum overall drop height: 36" H   Longer drop can be customized for add'l fee.	-	_ \$3,580.00	\$3,580.00	\$3,043.00	-
	ELS-B2S	Lighting	Elsa System - 2 Pendant Straight Frame	Satin Brass	Center Bar: 28" W   Puck: 2½" DIA   Canopy: 5" DIA	-	_ \$598.00	\$598.00	\$508.30	-
	ELS-B3S	Lighting	Elsa System - 3 Pendant Straight Frame	Satin Brass	Center Bar: 28" W   Puck: 21/2" DIA   Canopy: 5" DIA	-	_ \$598.00	\$598.00	\$508.30	-
A	ELS-B3R	Lighting	Elsa System - 3 Pendant Round Frame	Satin Brass	Frame: 18" W   Puck: 3" DIA   Canopy: 5" DIA	-	_ \$615.00	\$615.00	\$522.75	-
	ELS-B4R	Lighting	Elsa System - 4 Pendant Round Frame	Satin Brass	Frame: 27½" W   Puck: 3" DIA   Canopy: 5" DIA	-	_ \$665.00	\$665.00	\$565.25	-
	ELS-B5R	Lighting	Elsa System - 5 Pendant Round Frame	Satin Brass	Frame: 27½" W   Puck: 3" DIA   Canopy: 5" DIA	-	_ \$695.00	\$695.00	\$590.75	-
	ELS-ORB2S	Lighting	Elsa System - 2 Pendant Straight Frame	Oil Rubbed Brass	Center Bar: 28" W   Puck: 21/2" DIA   Canopy: 5" DIA	-	_ \$598.00	\$598.00	\$508.30	-
	ELS-ORB3S	Lighting	Elsa System - 3 Pendant Straight Frame	Oil Rubbed Brass	Center Bar: 28" W   Puck: 2½" DIA   Canopy: 5" DIA	-	_ \$598.00	\$598.00	\$508.30	-
	<u> </u>									

	ELS-ORB3R	Lighting	Elsa System - 3 Pendant Round Frame	Oil Rubbed Brass	Frame: 18" W   Puck: 3" DIA   Canopy: 5" DIA	1	-	\$615.00	\$615.00	\$522.75	-
	ELS-ORB4R	Lighting	Elsa System - 4 Pendant Round Frame	Oil Rubbed Brass	Frame: 27½" W   Puck: 3" DIA   Canopy: 5" DIA	-	-	\$665.00	\$665.00	\$565.25	-
	ELS-ORB5R	Lighting	Elsa System - 5 Pendant Round Frame	Oil Rubbed Brass	Frame: 27½" W   Puck: 3" DIA   Canopy: 5" DIA	-	-	\$695.00	\$695.00	\$590.75	-
•	7000BW	Lighting	Edmund Pendant - 11"	Black Walnut, Brass	Shade: 11" DIA   Total Height: 9½" H   Cord: 12' L   Globe: 6" DIA	-	-	\$995.00	\$995.00	\$845.75	\$597.00
	7000N	Lighting	Edmund Pendant - 11"	Natural Maple, Brass	Shade: 11" DIA   Total Height: 9½" H   Cord: 12' L   Globe: 6" DIA	-	-	\$925.00	\$925.00	\$786.25	\$555.00
	7000CM	Lighting	Edmund Pendant - 11"	Clear Maple, Brass	Shade: 11" DIA   Total Height: 9½" H   Cord: 12' L   Globe: 6" DIA	-	-	\$925.00	\$925.00	\$786.25	\$555.00
	7000WLG	Lighting	Edmund Pendant - 18"	Black Walnut, Brass	ade: 18" DIA x 11½" H   Chain: 3' L   Cord: 12' L   Globe: 8" DIA   Canopy: 5" D	-	-	\$1,985.00	\$1,985.00	\$1,687.25	-
-	7000NLG	Lighting	Edmund Pendant - 18"	Natural Maple, Brass	ade: 18" DIA x 11½" H   Chain: 3' L   Cord: 12' L   Globe: 8" DIA   Canopy: 5" D	-	-	\$1,565.00	\$1,565.00	\$1,330.25	-
	7000CMLG	Lighting	Edmund Pendant - 18"	Clear Maple, Brass	ade: 18" DIA x 11½" H   Chain: 3' L   Cord: 12' L   Globe: 8" DIA   Canopy: 5" D	-	-	\$1,565.00	\$1,565.00	\$1,330.25	-
	7000CRA	Lighting	Edmund Pendant - 11"	Almost Black Ceramic, Brass	Shade: 11" DIA x 9" H   Cord: 12' L   Globe: 6" DIA   Canopy: 5" DIA	-	-	\$925.00	\$925.00	\$786.25	-
	7000CRO	Lighting	Edmund Pendant - 11"	Olivine Ceramic, Brass	Shade: 11" DIA x 9" H   Cord: 12' L   Globe: 6" DIA   Canopy: 5" DIA	-	-	\$925.00	\$925.00	\$786.25	-
	7000CRB	Lighting	Edmund Pendant - 11"	Bone Ceramic, Brass	Shade: 11" DIA x 9" H   Cord: 12' L   Globe: 6" DIA   Canopy: 5" DIA	-	-	\$925.00	\$925.00	\$786.25	-
	7000SW	Lighting	Edmund Wall Sconce	Black Walnut, Brass	hade: 11" DIA   Arm: 9%" L   Backplate: 5" DIA   Globe: 6" DIA   Total Height: 13½"	\$684.50	2	\$1,369.00	\$1,369.00	\$1,163.65	\$821.40
	7000SM	Lighting	Edmund Wall Sconce	Natural Maple, Brass	hade: 11" DIA   Arm: 9%" L   Backplate: 5" DIA   Globe: 6" DIA   Total Height: 13½"	\$612.50	2	\$1,225.00	\$1,225.00	\$1,041.25	\$735.00
	7000SC	Lighting	Edmund Wall Sconce	Clear Maple, Brass	hade: 11" DIA   Arm: 9½" L   Backplate: 5" DIA   Globe: 6" DIA   Total Height: 13½"	\$612.50	2	\$1,225.00	\$1,225.00	\$1,041.25	\$735.00
	6700SB	Lighting	Lawrence Pendant - Small	Satin Brass	Fixture: 27" H   Total Drop: 6' L   Width: 5½"   Globe: 8" DIA   Canopy: 5" DIA	\$562.50	2	\$1,125.00	\$1,125.00	\$956.25	\$675.00
	6700LB	Lighting	Lawrence Pendant - Large	Satin Brass	Fixture: 40" H   Total Drop: 6' L   Width: 5½"   Globe: 8" DIA   Canopy: 5" DIA	\$637.50	2	\$1,275.00	\$1,275.00	\$1,083.75	\$765.00
	6701SB	Lighting	Lawrence Pendant - Small	Oil Rubbed Brass	Fixture: 27" H   Total Drop: 6' L   Width: 5½"   Globe: 8" DIA   Canopy: 5" DIA	\$562.50	2	\$1,125.00	\$1,125.00	\$956.25	\$675.00
<b>₹</b> ~	6701LB	Lighting	Lawrence Pendant - Large	Oil Rubbed Brass	Fixture: 40" H   Total Drop: 6' L   Width: 5½"   Globe: 8" DIA   Canopy: 5" DIA	\$637.50	2	\$1,275.00	\$1,275.00	\$1,083.75	\$765.00
	7022TL-C	Lighting	Celeste Table Lamp	Cloud Blue Leather, Black Walnut, Brass	Shade: 4.2" H x 12" DIA   Base: 10" DIA x 1½" H   Total Height: 18½" H	-	-	\$985.00	\$985.00	\$837.25	_

	7022AL-C	Lighting	Celeste Accent Lamp	Cloud Blue Leather, Black Walnut, Brass	Shade: 9" H x 5" DIA   Base: 6" DIA x 11/4" H   Total Height: 181/4" H	-	-	\$785.00	\$785.00	\$667.25	-
	7022DL-C	Lighting	Celeste Desk Lamp	Cloud Blue Leather, Black Walnut, Brass	Shade: 6%" DIA x 5" H   Arm: 6" L   Base: 11" L x 7" W x 1½" H   Total Height: 18½" H   Cord: 8½" L	-	-	\$1,025.00	\$1,025.00	\$871.25	-
	7022P-C	Lighting	Celeste Pendant	Cloud Blue Leather, Brass	Shade: 9" H x 5" DIA   Cord: 12' L   Canopy: 5" DIA	-	-	\$495.00	\$495.00	\$420.75	\$297.00
	7022S-C	Lighting	Celeste Wall Sconce - Hardwired	Cloud Blue Leather, Black Walnut, Brass	nade: 6½" DIA x 5" H   Backplate: 5" DIA x 1¼" H   Arm: 14" L   Total Height: 16"	-	-	\$935.00	\$935.00	\$794.75	-
	7002SP-C	Lighting	Celeste Wall Sconce - Plug	Cloud Blue Leather, Black Walnut, Brass	Shade: 6½" DIA x 5" H   Backplate: 5" DIA x 1½" H   Arm: 14" L   Total Height: 16" H   Cord 12' L	-	-	\$995.00	\$995.00	\$845.75	-
	7022TLD	Lighting	Celeste Table Lamp	Dogwood Leather, Black Walnut, Brass	Shade: 4.2" H x 12" DIA   Base: 10" DIA x 1½" H   Total Height: 18½" H	-	-	\$985.00	\$985.00	\$837.25	-
	7022AL-D	Lighting	Celeste Accent Lamp	Dogwood Leather, Black Walnut, Brass	Shade: 9" H x 5" DIA   Base: 6" DIA x 1.25" H   Total Height: 181/4" H	-	-	\$785.00	\$785.00	\$667.25	-
	7022DL-D	Lighting	Celeste Desk Lamp	Dogwood Leather, Black Walnut, Brass	Shade: 6%" DIA x 5" H   Arm: 6" L   Base: 11" L x 7" W x 1%" H   Total Height: 18%" H   Cord: 8%" L	-	-	\$1,025.00	\$1,025.00	\$871.25	-
	7022P-D	Lighting	Celeste Pendant	Dogwood Leather, Brass	Shade: 9" H x 5" DIA   Cord: 12' L   Canopy: 5" DIA	-	-	\$495.00	\$495.00	\$420.75	\$297.00
	7022S-D	Lighting	Celeste Wall Sconce - Hardwired	Dogwood Leather, Black Walnut, Brass	nade: 6½" DIA x 5" H   Backplate: 5" DIA x 1¼" H   Arm: 14" L   Total Height: 16"	-	-	\$935.00	\$935.00	\$794.75	-
	7002SP-D	Lighting	Celeste Wall Sconce - Plug	Dogwood Leather, Black Walnut, Brass	Shade: 6½" DIA x 5" H   Backplate: 5" DIA x 1½" H   Arm: 14" L   Total Height: 16" H   Cord 12' L	-	-	\$995.00	\$995.00	\$837.25	-
	7011DW-BS	Lighting	Hugo Floor Lamp	Dark Wash Oak, Black Linen Shade	Total Height: 61" H   Base: 10" DIA   Shade 12" H x 20" DIA   Cord: 10' L	\$665.00	2	\$1,330.00	\$1,330.00	\$1,130.50	\$798.00
	7011DW-IS	Lighting	Hugo Floor Lamp	Dark Wash Oak, Ivory Linen Shade	Total Height: 61" H   Base: 10" DIA   Shade 12" H x 20" DIA   Cord: 10' L	\$665.00	2	\$1,330.00	\$1,330.00	\$1,130.50	\$798.00
<b>-</b> e	7011WW-BS	Lighting	Hugo Floor Lamp	Whitewash Oak, Black Linen Shade	Total Height: 61" H   Base: 10" DIA   Shade 12" H x 20" DIA   Cord: 10' L	\$665.00	2	\$1,330.00	\$1,330.00	\$1,130.50	\$798.00
-	7011WW-IS	Lighting	Hugo Floor Lamp	Whitewash Oak, Ivory Linen Shade	Total Height: 61" H   Base: 10" DIA   Shade 12" H x 20" DIA   Cord: 10' L	\$665.00	2	\$1,330.00	\$1,330.00	\$1,130.50	\$798.00
~	7011N-BS	Lighting	Hugo Floor Lamp	Natural Oak, Black Linen Shade	Total Height: 61" H   Base: 10" DIA   Shade 12" H x 20" DIA   Cord: 10' L	\$665.00	2	\$1,330.00	\$1,330.00	\$1,130.50	\$798.00
	7011N-IS	Lighting	Hugo Floor Lamp	Natural Oak, Ivory Linen Shade	Total Height: 61" H   Base: 10" DIA   Shade 12" H x 20" DIA   Cord: 10' L	\$665.00	2	\$1,330.00	\$1,330.00	\$1,130.50	\$798.00
	7010DW-BS	Lighting	Hugo Table Lamp	Dark Wash Oak, Black Linen Shade	Total Height: 17½" H   Base: 17½" H x 6" DIA   Shade: 10" H x 12" W (Top) x 14" W (Bottom)   Cord: 10' L	\$377.50	2	\$755.00	\$755.00	\$641.75	\$453.00
•	7010DW-IS	Lighting	Hugo Table Lamp	Dark Wash Oak, Ivory Linen Shade	Total Height: 17½" H   Base: 17½" H x 6" DIA   Shade: 10" H x 12" W (Top) x 14" W (Bottom)   Cord: 10' L	\$377.50	2	\$755.00	\$755.00	\$641.75	\$453.00
							·				

	7010WW-BS	Lighting	Hugo Table Lamp	Whitewash Oak, Black Linen Shade	Total Height: 17½" H   Base: 17½" H x 6" DIA   Shade: 10" H x 12" W (Top) x 14" W (Bottom)   Cord: 10' L	\$377.50	2	\$755.00	\$755.00	\$641.75	\$453.00
•	7010WW-IS	Lighting	Hugo Table Lamp	Whitewash Oak, Ivory Linen Shade	Total Height: 17½" H   Base: 17½" H x 6" DIA   Shade: 10" H x 12" W (Top) x 14" W (Bottom)   Cord: 10' L	\$377.50	2	\$755.00	\$755.00	\$641.75	\$453.00
	7010N-BS	Lighting	Hugo Table Lamp	Natural Oak, Black Linen Shade	Total Height: 17½" H   Base: 17½" H x 6" DIA   Shade: 10" H x 12" W (Top) x 14" W (Bottom)   Cord: 10' L	\$377.50	2	\$755.00	\$755.00	\$641.75	\$453.00
000	7010N-IS	Lighting	Hugo Table Lamp	Natural Oak, Ivory Linen Shade	Total Height: 17½" H   Base: 17½" H x 6" DIA   Shade: 10" H x 12" W (Top) x 14" W (Bottom)   Cord: 10' L	\$377.50	2	\$755.00	\$755.00	\$641.75	\$453.00
1	7009DW-BS	Lighting	Bella Skirt Lamp	Dark Wash Oak , Black Linen Shade	Total Height: 26" H   Base: 16" H x 5¾" Diameter   Shade: 10" H x 12" W  (Top) x  14" W (Bottom)   Cord: 10' L	\$395.00	2	\$790.00	\$790.00	\$671.50	\$474.00
	7009DW-IS	Lighting	Bella Skirt Lamp	Dark Wash Oak, Ivory Linen Shade	Total Height: 26" H   Base: 16" H x 5¾" Diameter   Shade: 10" H x 12" W  (Top) x  14" W (Bottom)   Cord: 10' L	\$395.00	2	\$790.00	\$790.00	\$671.50	\$474.00
	7009WW-BS	Lighting	Bella Skirt Lamp	Whitewash Oak, Black Linen Shade	Total Height: 26" H   Base: 16" H x 5¾" Diameter   Shade: 10" H x 12" W (Top) x 14" W (Bottom)   Cord: 10' L	\$395.00	2	\$790.00	\$790.00	\$671.50	\$474.00
	7009WW-IS	Lighting	Bella Skirt Lamp	Whitewash Oak, Ivory Linen Shade	Total Height: 26" H   Base: 16" H x 5%" Diameter   Shade: 10" H x 12" W (Top) x 14" W (Bottom)   Cord: 10' L	\$395.00	2	\$790.00	\$790.00	\$671.50	\$474.00
	7009N-BS	Lighting	Bella Skirt Lamp	Natural Oak, Black Linen Shade	Total Height: 26" H   Base: 16" H x 5¾" Diameter   Shade: 10" H x 12" W (Top) x 14" W (Bottom)   Cord: 10' L	\$395.00	2	\$790.00	\$790.00	\$671.50	\$474.00
1	7009N-IS	Lighting	Bella Skirt Lamp	Natural Oak, Ivory Linen Shade	Total Height: 26" H   Base: 16" H x 5%" Diameter   Shade: 10" H x 12" W (Top) x 14" W (Bottom)   Cord: 10' L	\$395.00	2	\$790.00	\$790.00	\$671.50	\$474.00
Ţ	7008DW-BS	Lighting	Trumpet Lamp - Large	Dark Wash Oak, Black Linen Shade	otal Height: 26" H   Base: 21" H x 9½" DIA   Shade: 10" H x 16" DIA   Cord: 10'	\$432.50	2	\$865.00	\$865.00	\$735.25	\$519.00
I	7008DW-IS	Lighting	Trumpet Lamp - Large	Dark Wash Oak, Ivory Linen Shade	otal Height: 26" H   Base: 21" H x 9½" DIA   Shade: 10" H x 16" DIA   Cord: 10'	\$432.50	2	\$865.00	\$865.00	\$735.25	\$519.00
	7008WW-BS	Lighting	Trumpet Lamp - Large	Whitewash Oak, Black Linen Shade	otal Height: 26" H   Base: 21" H x 9½" DIA   Shade: 10" H x 16" DIA   Cord: 10'	\$432.50	2	\$865.00	\$865.00	\$735.25	\$519.00
	7008WW-IS	Lighting	Trumpet Lamp - Large	Whitewash Oak, Ivory Linen Shade	otal Height: 26" H   Base: 21" H x 9½" DIA   Shade: 10" H x 16" DIA   Cord: 10'	\$432.50	2	\$865.00	\$865.00	\$735.25	\$519.00
	7008N-BS	Lighting	Trumpet Lamp - Large	Natural Oak, Black Linen Shade	otal Height: 26" H   Base: 21" H x 9½" DIA   Shade: 10" H x 16" DIA   Cord: 10'	\$432.50	2	\$865.00	\$865.00	\$735.25	\$519.00
I	7008N-IS	Lighting	Trumpet Lamp - Large	Natural Oak, Ivory Linen Shade	otal Height: 26" H   Base: 21" H x 9½" DIA   Shade: 10" H x 16" DIA   Cord: 10'	\$432.50	2	\$865.00	\$865.00	\$735.25	\$519.00
	7007DW-BS	Lighting	Trumpet Lamp - Small	Dark Wash Oak, Black Linen Shade	Total Height: 16" H   Base: 9" H x 7" DIA   Shade: 7" H x 10" DIA   Cord: 10' L	\$327.50	2	\$655.00	\$655.00	\$556.75	\$393.00
	<u> </u>										

I	7007DW-IS	Lighting	Trumpet Lamp - Small	Dark Wash Oak, Ivory Linen Shade  Total Height: 16" H   Base: 9" H x 7" DIA   Shade: 7" H x 10" DIA   Cord: 10' L	\$327.50	2 \$655.00	\$655.00	\$556.75	\$393.00
	7007WW-BS	Lighting	Trumpet Lamp - Small	Whitewash Oak, Black Linen Shade  Total Height: 16" H   Base: 9" H x 7" DIA   Shade: 7" H x 10" DIA   Cord: 10' L	\$327.50	2 \$655.00	\$655.00	\$556.75	\$393.00
I	7007WW-IS	Lighting	Trumpet Lamp - Small	Whitewash Oak, Ivory Linen Shade  Total Height: 16" H   Base: 9" H x 7" DIA   Shade: 7" H x 10" DIA   Cord: 10' L	\$327.50	2 \$655.00	\$655.00	\$556.75	\$393.00
Ţ	7007N-BS	Lighting	Trumpet Lamp - Small	Natural Oak, Black Linen Shade  Total Height: 16" H   Base: 9" H x 7" DIA   Shade: 7" H x 10" DIA   Cord: 10' L	\$327.50	2 \$655.00	\$655.00	\$556.75	\$393.00
I	7007N-IS	Lighting	Trumpet Lamp - Small	Natural Oak, Ivory Linen Shade  Total Height: 16" H   Base: 9" H x 7" DIA   Shade: 7" H x 10" DIA   Cord: 10' L	\$327.50	2 \$655.00	\$655.00	\$556.75	\$393.00
1	7027-C	Lighting	Alek Desk Lamp	Maple, Brass, Cream  18"–26" H   Base: 9½ DIA x 17" H (at articulating mechanism)    Articulating Arm: 22½" L   Shade: 7" H x 2½" DIA (top) x 6¾ DIA (bottom)	-	_ \$1,150.00	\$1,150.00	\$977.50	-
1	7027-P	Lighting	Alek Desk Lamp	Maple, Brass, Poppy Stoneware Ceramic  18"–26" H   Base: 9½ DIA x 17" H (at articulating mechanism)   Articulating Arm: 22½" L   Shade: 7" H x 2½" DIA (top) x 6¾ DIA (bottom)	-	_ \$1,150.00	\$1,150.00	\$977.50	-
1	7027-AB	Lighting	Alek Desk Lamp	Maple, Brass, Almost Black Stoneware Ceramic  18"–26" H   Base: 9½ DIA x 17" H (at articulating mechanism)   Articulating Arm: 22½" L   Shade: 7" H x 2½" DIA (top) x 6¾ DIA (bottom)	-	_ \$1,150.00	\$1,150.00	\$977.50	-
1	7027S-C	Lighting	Alek Sconce	Maple, Brass, Cream Stoneware Ceramic Depth from wall: 9½" D (pivot point), 23" D (shade, fully extended)   Overall height: 12" H (maple body), 22%" H (shade, fully extended)   Articulating Arm: 22" L (with shade)   Shade: 4½" H x 2½" DIA (top) x 5½" DIA (bottom)   Backplate: 5" DIA	-	_ \$1,350.00	\$1,350.00	\$1,147.50	-
	7027S-P	Lighting	Alek Sconce	Maple, Brass, Poppy Stoneware Ceramic  Depth from wall: 9½" D (pivot point), 23" D (shade, fully extended)   Overall height: 12" H (maple body), 22½" H (shade, fully extended)   Articulating Arm: 22" L (with shade)   Shade: 4½" H x 2½" DIA (top) x 5½" DIA (bottom)   Backplate: 5" DIA	-	_ \$1,350.00	\$1,350.00	\$1,147.50	-
	7027S-AB	Lighting	Alek Sconce	Maple, Brass, Almost Black Stoneware Ceramic  Depth from wall: 9½" D (pivot point), 23" D (shade, fully extended)   Overall height: 12" H (maple body), 22%" H (shade, fully extended)   Articulating Arm: 22" L (with shade)   Shade: 4½" H x 2½" DIA (top) x 5½" DIA (bottom)   Backplate: 5" DIA	-	_ \$1,350.00	\$1,350.00	\$1,147.50	-
	7006H-BLH	Lighting	Ava Wall Sconce - Hardwired	Black Walnut, Black Leather, Brass  Backplate: 4¾W x 12" H x 1" D   Brass Arm with Shade: 21½ " L	\$497.50	2 \$995.00	\$995.00	\$845.75	\$597.00
	7006-BL	Lighting	Ava Wall Sconce	Black Walnut, Black Leather, Brass  Backplate: 3½ " W x 12" H x ¾" D   Brass Arm with Shade: 21½" L   Cord: 9½' L	\$547.50	2 \$1,095.00	\$1,095.00	\$930.75	\$657.00
	7006H	Lighting	Ava Wall Sconce - Hardwired	lack Walnut, Tan Leather, Bras Backplate: 4¾W x 12" H x 1" D   Brass Arm with Shade: 21½ " L	\$497.50	2 \$995.00	\$995.00	\$845.75	\$597.00
	7006	Lighting	Ava Wall Sconce	lack Walnut, Tan Leather, BrasBackplate: 3½ " W x 12" H x ¾" D   Brass Arm with Shade: 21½" L   Cord: 9½' L	\$547.50	2 \$1,095.00	\$1,095.00	\$930.75	\$657.00
	7015	Lighting	Grace Articulating Wall Sconce - Plug In	Iron, Tan Leather, Brass Mount Arm: 27" L x 6" H   Middle Arm: 25%" L   Lamp Arm: 22" L   Shade: 9" L x 9" DIA	\$572.50	2 \$1,145.00	\$1,145.00	\$973.25	\$687.00
	7015B	Lighting	Grace Articulating Wall Sconce - Plug In	Iron, Black Leather, Brass Mount Arm: 27" L x 6" H   Middle Arm: 25%" L   Lamp Arm: 22" L   Shade: 9" L x 9" DIA	\$572.50	2 \$1,145.00	\$1,145.00	\$973.25	\$687.00

	7015-HW	Lighting	Grace Articulating Wall Sconce - Hardwired	Iron, Tan Leather, Brass	Mount Arm: 27" L x 6" H   Middle Arm: 25¼" L   Lamp Arm: 22" L   Shade: 9" L x 9" DIA   Backplate: 5" DIA	\$597.50	2	\$1,195.00	\$1,195.00	\$1,015.75	\$717.00
	7015B-HW	Lighting	Grace Articulating Wall Sconce - Hardwired	Iron, Black Leather, Brass	Mount Arm: 27" L x 6" H   Middle Arm: 251/4" L   Lamp Arm: 22" L   Shade: 9" L x 9" DIA   Backplate: 5" DIA	\$597.50	2	\$1,195.00	\$1,195.00	\$1,015.75	\$717.00
1 19	7019-SC	Lighting	Gustav Sconce	Satin Brass, Black Walnut, Belgian Linen	OAH: 29" H   Shelf: 9¼" DIA   Shade: 8" DIA x 10" H	-	-	\$1,450.00	\$1,450.00	\$1,232.50	-
	7017	Lighting	Lola Chandelier - Three Arm	Stoneware Robin's Egg Ceramic, Leather, Antique Brass, Black Walnut	Standard overall drop height: 36" H   Minimum overall drop height: 20" H Maximum overall drop height: 36" H   32½" DIA   Shade: 6½" H x 6½" DIA   Canopy: 5" DIA   Walnut Orb: 3½" DIA   Cluster Dish: 6" DIA x 2" H   Stem: ½" thick	-	-	\$3,680.00	\$3,680.00	\$3,128.00	-
	7017-C	Lighting	Lola Chandelier - Three Arm	Stoneware Cream Ceramic, Leather, Antique Brass, Black Walnut	Standard overall drop height: 36" H   Minimum overall drop height: 20" H Maximum overall drop height: 36" H   32½" DIA   Shade: 6½" H x 6½" DIA   Canopy: 5" DIA   Walnut Orb: 3½" DIA   Cluster Dish: 6" DIA x 2" H   Stem: ½" thick	1	-	\$3,680.00	\$3,680.00	\$3,128.00	-
	7017-D	Lighting	Lola Chandelier - Three Arm	Stoneware Dove Ceramic, Leather, Antique Brass, Black Walnut	Standard overall drop height: 36" H   Minimum overall drop height: 20" H Maximum overall drop height: 36" H   32½" DIA   Shade: 6½" H x 6½" DIA   Canopy: 5" DIA   Walnut Orb: 3½" DIA   Cluster Dish: 6" DIA x 2" H   Stem: ½" thick	-	-	\$3,680.00	\$3,680.00	\$3,128.00	-
	7018	Lighting	Lola Chandelier - Five Arm	Stoneware Robin's Egg Ceramic, Leather, Antique Brass, Black Walnut	Standard overall drop height: 36" H   Minimum overall drop height: 20" H Maximum overall drop height: 36" H   42½"" DIA   Shade: 6½" H x 6½" DIA   Canopy: 5" DIA   Walnut Orb: 3½" DIA   Cluster Dish: 6" DIA x 2" H   Stem: ½" thick	-	-	\$5,480.00	\$5,480.00	\$4,658.00	-
	7018-C	Lighting	Lola Chandelier - Five Arm	Stoneware Cream Ceramic, Leather, Antique Brass, Black Walnut	Standard overall drop height: 36" H   Minimum overall drop height: 20" H Maximum overall drop height: 36" H   42½"" DIA   Shade: 6¾" H x 6¾" DIA   Canopy: 5" DIA   Walnut Orb: 3½" DIA   Cluster Dish: 6" DIA x 2" H   Stem: ½" thick	1	-	\$5,480.00	\$5,480.00	\$4,658.00	-
	7018-D	Lighting	Lola Chandelier - Five Arm	Stoneware Dove Ceramic, Leather, Antique Brass, Black Walnut	Standard overall drop height: 36" H   Minimum overall drop height: 20" H Maximum overall drop height: 36" H   42½"" DIA   Shade: 6½" H x 6½" DIA   Canopy: 5" DIA   Walnut Orb: 3½" DIA   Cluster Dish: 6" DIA x 2" H   Stem: ½" thick	-	-	\$5,480.00	\$5,480.00	\$4,658.00	-
	7016	Lighting	Lola Chandelier - Petite	Stoneware Robin's Egg Ceramic, Leather, Antique Brass, Black Walnut	Standard overall drop height: 36" H   Minimum overall drop height: 20" H Maximum overall drop height: 36" H   24" DIA   Shade: 6%" H x 6%" DIA   Canopy: 5" DIA   Walnut Orb: 3%" DIA   Cluster Dish: 6" DIA x 2" H   Stem: ½" thick	1	-	\$3,500.00	\$3,500.00	\$2,975.00	-
	7016C	Lighting	Lola Chandelier - Petite	Stoneware Cream Ceramic, Leather, Antique Brass, Black Walnut	Standard overall drop height: 36" H   Minimum overall drop height: 20" H Maximum overall drop height: 36" H   24" DIA   Shade: 6%" H x 6%" DIA   Canopy: 5" DIA   Walnut Orb: 3%" DIA   Cluster Dish: 6" DIA x 2" H   Stem: ½" thick	1	-	\$3,500.00	\$3,500.00	\$2,975.00	-
	7016D	Lighting	Lola Chandelier - Petite	Stoneware Dove Ceramic, Leather, Antique Brass, Black Walnut	Standard overall drop height: 36" H   Minimum overall drop height: 20" H Maximum overall drop height: 36" H   24" DIA   Shade: 6%" H x 6%" DIA   Canopy: 5" DIA   Walnut Orb: 3%" DIA   Cluster Dish: 6" DIA x 2" H   Stem: %" thick	1	-	\$3,500.00	\$3,500.00	\$2,975.00	-
	7014	Lighting	Sarah Ceiling Fixture - 14"	Tan Leather, Brass	Shade: 41/4" Height x 14" DIA   Max Drop: 30" L   Canopy 5" DIA	\$1,050.00	2	\$2,100.00	\$2,100.00	\$1,785.00	\$1,260.00
	7014LG	Lighting	Sarah Ceiling Fixture - 18"	Tan Leather, Brass	Shade: 41/4" Height x 18" DIA   Max Drop: 30" L   Canopy 5" DIA	-	=	\$2,400.00	\$2,400.00	\$2,040.00	-
	7014XL	Lighting	Sarah Ceiling Fixture - 24"	Tan Leather, Brass	Shade: 41/4" Height x 24" DIA   Max Drop: 30" L   Canopy 5" DIA	1	-	\$3,200.00	\$3,200.00	\$2,720.00	_
	7014B	Lighting	Sarah Ceiling Fixture - 14"	Black Leather, Brass	Shade: 41/4" Height x 14" DIA   Max Drop: 30" L   Canopy 5" DIA	\$1,050.00	2	\$2,100.00	\$2,100.00	\$1,785.00	\$1,260.00
	7014LGB	Lighting	Sarah Ceiling Fixture - 18"	Black Leather, Brass	Shade: 41/4" Height x 18" DIA   Max Drop: 30" L   Canopy 5" DIA	-	_	\$2,400.00	\$2,400.00	\$2,040.00	-
	'							-			

7014XLB	Lighting	Sarah Ceiling Fixture - 24"	Black Leather, Brass	Shade: 41/4" Height x 24" DIA   Max Drop: 30" L   Canopy 5" DIA	-	_	\$3,200.00	\$3,200.00	\$2,720.00	-
7014-D	Lighting	Sarah Ceiling Fixture - 14"	Dogwood Leather, Brass	Shade: 41/4" Height x 14" DIA   Max Drop: 30" L   Canopy 5" DIA	\$1,050.00	2	\$2,100.00	\$2,100.00	\$1,785.00	\$1,260.00
7014LG-D	Lighting	Sarah Ceiling Fixture - 18"	Dogwood Leather, Brass	Shade: 41/4" Height x 18" DIA   Max Drop: 30" L   Canopy 5" DIA	-	-	\$2,400.00	\$2,400.00	\$2,040.00	-
7014XL-D	Lighting	Sarah Ceiling Fixture - 24"	Dogwood Leather, Brass	Shade: 41/4" Height x 24" DIA   Max Drop: 30" L   Canopy 5" DIA	-	-	\$3,200.00	\$3,200.00	\$2,720.00	-
7014-C	Lighting	Sarah Ceiling Fixture - 14"	Cloud Blue Leather, Brass	Shade: 4¼" Height x 14" DIA   Max Drop: 30" L   Canopy 5" DIA	\$1,050.00	2	\$2,100.00	\$2,100.00	\$1,785.00	\$1,260.00
7014LG-C	Lighting	Sarah Ceiling Fixture - 18"	Cloud Blue Leather, Brass	Shade: 41/4" Height x 18" DIA   Max Drop: 30" L   Canopy 5" DIA	-	-	\$2,400.00	\$2,400.00	\$2,040.00	-
7014XL-C	Lighting	Sarah Ceiling Fixture - 24"	Cloud Blue Leather, Brass	Shade: 4¼" Height x 24" DIA   Max Drop: 30" L   Canopy 5" DIA	-	-	\$3,200.00	\$3,200.00	\$2,720.00	-
7012	Lighting	Sarah Cylinder	Tan Leather, Brass	Shade: 8" DIA x 10" H   Cord: 10' L	\$325.00	2	\$650.00	\$650.00	\$552.50	\$390.00
7013	Lighting	Sarah Cone	Tan Leather, Brass	Shade: 9" H x 9" DIA (Bottom) x 3" DIA (Top)   Cord: 10' L	\$277.50	2	\$555.00	\$555.00	\$471.75	\$333.00
7012B	Lighting	Sarah Cylinder	Black Leather, Brass	Shade: 8" DIA x 10" H   Cord: 10' L	\$325.00	2	\$650.00	\$650.00	\$552.50	\$390.00
7013B	Lighting	Sarah Cone	Black Leather, Brass	Shade: 9" H x 9" DIA (Bottom) x 3" DIA (Top)   Cord: 10' L	\$277.50	2	\$555.00	\$555.00	\$471.75	\$333.00
7002TSC	Lighting	Dot Sconce - Hardwired	Natural Leather, Brass	Shade: 9" DIA x 6½" H   12" From Wall   13" H   Backplate: 5" DIA	\$357.50	2	\$715.00	\$715.00	\$607.75	\$429.00
7002ESC	Lighting	Dot Sconce - Hardwired	Espresso Leather, Brass	Shade: 9" DIA x 6½" H   12" From Wall   13" H   Backplate: 5" DIA	\$357.50	2	\$715.00	\$715.00	\$607.75	\$429.00
7002DSC	Lighting	Dot Sconce - Hardwired	Dogwood Leather, Brass	Shade: 9" DIA x 6½" H   12" From Wall   13" H   Backplate: 5" DIA	\$407.50	2	\$815.00	\$815.00	\$692.75	\$489.00
7002CSC	Lighting	Dot Sconce - Hardwired	Cloud Blue Leather, Brass	Shade: 9" DIA x 6½" H   12" From Wall   13" H   Backplate: 5" DIA	\$407.50	2	\$815.00	\$815.00	\$692.75	\$489.00
7003TSC	Lighting	Stella Sconce - Hardwired	Natural Leather, Brass	Shade: 9" DIA x 6½" H   12" From Wall   13" H   Backplate: 5" DIA	\$357.50	2	\$715.00	\$715.00	\$607.75	\$429.00
7003ESC	Lighting	Stella Sconce - Hardwired	Espresso Leather, Brass	Shade: 9" DIA x 6½" H   12" From Wall   13" H   Backplate: 5" DIA	\$357.50	2	\$715.00	\$715.00	\$607.75	\$429.00
7003DSC	Lighting	Stella Sconce - Hardwired	Dogwood Leather, Brass	Shade: 9" DIA x 6½" H   12" From Wall   13" H   Backplate: 5" DIA	\$407.50	2	\$815.00	\$815.00	\$692.75	\$489.00

	7003CSC	Lighting	Stella Sconce - Hardwired	Cloud Blue Leather, Brass	Shade: 9" DIA x 6½" H   12" From Wall   13" H   Backplate: 5" DIA	\$407.50	2	\$815.00	\$815.00	\$692.75	\$489.00
<b>A</b>	7002T	Lighting	Dot Pendant	Natural Leather, Brass	Shade: 8%" Diameter x 7%" H   Cord: 12' L	\$312.50	2	\$625.00	\$625.00	\$531.25	\$375.00
	7002E	Lighting	Dot Pendant	Espresso Leather, Brass	Shade: 8¾" Diameter x 7¾" H   Cord: 12' L	\$312.50	2	\$625.00	\$625.00	\$531.25	\$375.00
	7002D	Lighting	Dot Pendant	Dogwood Leather, Brass	Shade: 8¾" Diameter x 7¾" H   Cord: 12' L	\$362.50	2	\$725.00	\$725.00	\$616.25	\$435.00
	7002C	Lighting	Dot Pendant	Cloud Blue Leather, Brass	Shade: 8¾" Diameter x 7¾" H   Cord: 12' L	\$362.50	2	\$725.00	\$725.00	\$616.25	\$435.00
_	7003T	Lighting	Stella Pendant	Natural Leather, Brass	Shade: 8¾" Diameter x 7¾" H   Cord: 12' L	\$312.50	2	\$625.00	\$625.00	\$531.25	\$375.00
	7003E	Lighting	Stella Pendant	Espresso Leather, Brass	Shade: 8¾" Diameter x 7¾" H   Cord: 12' L	\$312.50	2	\$625.00	\$625.00	\$531.25	\$375.00
	7003D	Lighting	Stella Pendant	Dogwood Leather, Brass	Shade: 8¾" Diameter x 7¾" H   Cord: 12' L	\$362.50	2	\$725.00	\$725.00	\$616.25	\$435.00
	7003C	Lighting	Stella Pendant	Cloud Blue Leather, Brass	Shade: 8¾" Diameter x 7¾" H   Cord: 12' L	\$362.50	2	\$725.00	\$725.00	\$616.25	\$435.00
	5CBrass	Lighting	Brass Ceiling Canopy	Brass	5" DIA	\$40.80	1	\$48.00	\$48.00	\$40.80	\$40.80
•••	5CWhite	Lighting	White Metal Ceiling Canopy	White Metal	5" DIA	\$40.80	1	\$48.00	\$48.00	\$40.80	\$40.80
	ORBCanopy	Lighting	Oil Rubbed Brass Canopy	Oil Rubbed Brass	5" DIA	\$40.80	1	\$48.00	\$48.00	\$40.80	\$40.80
	6090B	Furniture	Brandywine Tall Shelves	Oak, Iron, Tan Leather	36" L x 12½ " W x 62¾" H	\$842.50	1	\$1,685.00	\$1,685.00	\$1,432.25	\$1,011.00
1	6091B	Furniture	Brandywine Low Wide Shelves	Oak, Iron, Tan Leather	60" L x 12½" W x 45¼ " H	\$842.50	1	\$1,685.00	\$1,685.00	\$1,432.25	\$1,011.00
AA	50032	Furniture	Jack Counter Stool	Maple, Iron, Tan Leather	15½" W x 17½" D x 32" H   Seat Height: 26½ " H	-	-	\$1,285.00	\$1,285.00	\$1,092.25	-
A	50032B	Furniture	Jack Bar Stool	Maple, Iron, Tan Leather	15¼" W x 17¼" D x 34" H   Seat Height: 29½" H	-	-	\$1,285.00	\$1,285.00	\$1,092.25	-
AA	50032BC	Furniture	Jack Counter Stool	Maple, Iron, Black Leather	15½" W x 17½" D x 34" H   Seat Height: 29½" H	-	-	\$1,285.00	\$1,285.00	\$1,092.25	-
							•			•	

A	50032BB	Furniture	Jack Bar Stool	Maple, Iron, Black Leather	15¼" W x 17¼" D x 34" H   Seat Height: 29½" H	-	_	\$1,285.00	\$1,285.00	\$1,092.25	-
T	4002	Furniture	Calvin Café Table	Iron, Maple	28%" H x 26" DIA	-	-	\$735.00	\$735.00	\$624.75	\$441.00
$\rightarrow$	4001EB	Furniture	Calvin Table	Ebony - Iron, Maple	22½ " H x 12" DIA	-	-	\$363.00	\$363.00	\$308.55	\$217.80
	4001IV	Furniture	Calvin Table	Ivory - Iron, Maple	22½ " H x 12" DIA	-	-	\$363.00	\$363.00	\$308.55	\$217.80
用	6045	Furniture	Gordon Bar Stool	White Wash, Iron, Oak	29½ " H x 16" W   13¾" DIA Seat	\$292.50	2	\$585.00	\$585.00	\$497.25	\$351.00
用	6045C	Furniture	Gordon Counter Stool	Whitewash - Iron, Oak	27" H x 16" W   13¾" DIA Seat	\$292.50	2	\$585.00	\$585.00	\$497.25	\$351.00
熚	6046	Furniture	Gordon Bar Stool	Natural - Iron, Oak	29½ " H x 16" W   13¾" DIA Seat	\$292.50	2	\$585.00	\$585.00	\$497.25	\$351.00
用	6046C	Furniture	Gordon Counter Stool	Natural - Iron, Oak	27" H x 16" W   13¾" DIA Seat	\$292.50	2	\$585.00	\$585.00	\$497.25	\$351.00
	6046BWB	Furniture	Gordon Bar Stool	White Base, Natural - Iron, Oak	29½ " H x 16" W   13¾" DIA Seat	\$292.50	2	\$585.00	\$585.00	\$497.25	\$351.00
	6046CWB	Furniture	Gordon Counter Stool	White Base, Natural - Iron, Oak	27" H x 16" W   13¾" DIA Seat	\$292.50	2	\$585.00	\$585.00	\$497.25	\$351.00
	STONGS-MAP	Kitchen	Gibson Serving Set	Maple	12" L x 2" W	-	-	\$95.00	\$95.00	\$80.75	-
	STONGS-WAL	Kitchen	Gibson Serving Set	Walnut	12" L x 2" W	-	-	\$115.00	\$115.00	\$97.75	-
	7040R	Kitchen	Henrik Round Board	Maple, Brass	14" DIA x ¾" H	-	-	\$195.00	\$195.00	\$165.75	-
()	7040L	Kitchen	Henrik Long Board	Maple, Brass	28"L x 10" W x ¾" H	-	-	\$235.00	\$235.00	\$199.75	-
	6500M15	Kitchen	Pascale Tray Small	Ash	15" L x 7" W x 1¾" H	\$37.50	3	\$75.00	\$75.00	\$63.75	-
1	6500M21	Kitchen	Pascale Tray Medium	Ash	21" L x 9" W x 1¾" H	\$45.00	3	\$90.00	\$90.00	\$76.50	-
	6500M27	Kitchen	Pascale Tray Large	Ash	27" L x 10½" W x 1¾" H	\$55.00	3	\$110.00	\$110.00	\$93.50	-

<del>,</del>	6500M3	Kitchen	Pascale Tray Trio	Ash	Assorted Sizes	\$137.50	2	\$275.00	\$275.00	\$233.75	-
	6500M33	Kitchen	Pascale Tray XL	Ash	33" L x 13" W x 1¾" H	\$65.00	3	\$130.00	\$130.00	\$110.50	-
	6500W15	Kitchen	Pascale Tray Small	Black Walnut	15" L x 7" W x 1¾" H	\$47.50	3	\$95.00	\$95.00	\$80.75	-
	6500W21	Kitchen	Pascale Tray Medium	Black Walnut	21" L x 9" W x 1¾" H	\$60.00	3	\$120.00	\$120.00	\$102.00	-
	6500W27	Kitchen	Pascale Tray Large	Black Walnut	27" L x 10½" W x 1¾" H	\$79.00	3	\$158.00	\$158.00	\$134.30	-
<b>#</b>	6500W3	Kitchen	Pascale Tray Trio	Black Walnut	Assorted Sizes	\$186.25	2	\$372.50	\$372.50	\$316.63	-
	6500W33	Kitchen	Pascale Tray XL	Black Walnut	33" L x 13" W x 1¾" H	\$99.00	3	\$198.00	\$198.00	\$168.30	-
	7025set	Kitchen	Salt + Pepper Mill	White and Black - Oak	9 " H x 3" Top DIA	\$162.50	4	\$325.00	\$325.00	\$276.25	-
34	7026set	Kitchen	Salt + Pepper Shaker Set	White and Black - Oak	Tray 3" W x 6" L   Shaker 3½" H x 2½ " DIA	\$92.50	4	\$185.00	\$185.00	\$157.25	-
<u></u>	7048	Kitchen	Pot Rack - 48"	Iron	48" L	\$110.00	4	\$220.00	\$220.00	\$187.00	-
<u></u>	7036	Kitchen	Pot Rack - 36"	Iron	36" L	\$87.50	4	\$175.00	\$175.00	\$148.75	-
	7024	Kitchen	Pot Rack - 24*	Iron	24" L	\$77.50	4	\$155.00	\$155.00	\$131.75	-
S	7101	Storage	Carter S Hook - Large, Set/6	Brass	6¾" H x 3¼" W	\$48.75	6	\$97.50	\$97.50	\$82.88	-
S	7100-1	Storage	Carter S Hook - Small, Set/12	Brass	1½" W x 4½" H	\$60.00	6	\$120.00	\$120.00	\$102.00	-
	7102-B	Storage	Ludlow Hooks - Set/6	Brass, Black Leather	5½" L x 2" W x ½" Thick	\$64.00	6	\$128.00	\$128.00	\$108.80	-
7 7	7102	Storage	Ludlow Hooks - Set/6	Brass, Black Leather	5½" L x 2" W x ½" Thick	\$64.00	6	\$128.00	\$128.00	\$108.80	-
F	FPCH-SPCH-NA	Candle Holders	Paloma Pillar Candle Holder - Short	Natural Maple, Brass	4" DIA x 4" H	-	_	\$135.00	\$135.00	\$114.75	-
			Ĺ						1	1	

	FPCH-TPCH-NA <sup>-</sup>	Candle Holders	Paloma Pillar Candle Holder - Tall	Natural Maple, Brass	3¾" DIA x 5¼" H	-	-	\$145.00	\$145.00	\$123.25	-
	FPCH-SPCH-DW	Candle Holders	Paloma Pillar Candle Holder - Short	Dark Wash Maple, Brass	4" DIA x 4" H	-	-	\$135.00	\$135.00	\$114.75	-
I	FPCH-TPCH-DW	Candle Holders	Paloma Pillar Candle Holder - Tall	Dark Wash Maple, Brass	3¾" DIA x 5¼" H	_	-	\$145.00	\$145.00	\$123.25	-
	FLCH-SNAT	Candle Holders	Marin Candle Holder Trio	Natural Maple, Brass	Assorted Sizes	_	-	\$295.00	\$295.00	\$250.75	-
	FLCH-SDW	Candle Holders	Marin Candle Holder Trio	Dark Wash Maple, Brass	Assorted Sizes	-	-	\$295.00	\$295.00	\$250.75	-
	TCH-SMAP	Candle Holders	Tulip Candle Holder - Small	Natural Maple, Brass	Base: 2½" DIA x 2½" H   9" H	_	-	\$120.00	\$120.00	\$102.00	_
	TCH-MMAP	Candle Holders	Tulip Candle Holder - Medium	Natural Maple, Brass	Base: 2¼" DIA x 2¼" H   10" H	_	-	\$125.00	\$125.00	\$106.25	-
	TCH-LMAP	Candle Holders	Tulip Candle Holder - Large	Natural Maple, Brass	Base: 2¼" DIA x 2¼" H   11" H	-	-	\$130.00	\$130.00	\$110.50	-
Y	TCH-DBLMAP	Candle Holders	Tulip Candelabra	Natural Maple, Brass	Base: 4½ " DIA x 2½" H   13" H x 7" W	-	-	\$235.00	\$235.00	\$199.75	-
	TCH-SWAL	Candle Holders	Tulip Candle Holder - Small	Black Walnut, Brass	Base: 2½" DIA x 2½" H   9" H	-	-	\$120.00	\$120.00	\$102.00	_
	TCH-MWAL	Candle Holders	Tulip Candle Holder - Medium	Black Walnut, Brass	Base: 2¼" DIA x 2¼" H   10" H	-	-	\$125.00	\$125.00	\$106.25	-
	TCH-LWAL	Candle Holders	Tulip Candle Holder - Large	Black Walnut, Brass	Base: 2¼" DIA x 2¼" H   11" H	-	-	\$130.00	\$130.00	\$110.50	-
¥	TCH-DBLWAL	Candle Holders	Tulip Candelabra	Black Walnut, Brass	Base: 4½ " DIA x 2½" H   13" H x 7" W	-	-	\$235.00	\$235.00	\$199.75	-
1	4241M	Candle Holders	Bella Candle Holder	Maple	9" H x 3½ " DIA	\$59.00	4	\$118.00	\$118.00	\$100.30	-
1	4242C	Candle Holders	Bella Candle Holder	Cherry	9" H x 3½ " DIA	\$59.00	4	\$118.00	\$118.00	\$100.30	-
1	4243W	Candle Holders	Bella Candle Holder	Black Walnut	9" H x 3½ " DIA	\$69.00	4	\$138.00	\$138.00	\$117.30	-
T	4244M	Candle Holders	Trumpet Candle Holder	Maple	3" H x 4½ " DIA	\$47.50	4	\$95.00	\$95.00	\$80.75	-

1	4245C	Candle Holders	Trumpet Candle Holder	Cherry	3" H x 4½ " DIA	\$47.50	4	\$95.00	\$95.00	\$80.75	_
1	4246W	Candle Holders	Trumpet Candle Holder	Black Walnut	3" H x 4½ " DIA	\$57.50	4	\$115.00	\$115.00	\$97.75	-
	6232	Candle Holders	Albert Candle Holder - Maple	Maple	12½ " H x 3%" DIA	\$49.00	4	\$98.00	\$98.00	\$83.30	-
	6233	Candle Holders	Albert Candle Holder - Cherry	Cherry	12½ " H x 3%" DIA	\$49.00	4	\$98.00	\$98.00	\$83.30	-
	6234	Candle Holders	Albert Candle Holder - Walnut	Black Walnut	12½ " H x 3½" DIA	\$59.00	4	\$118.00	\$118.00	\$100.30	_
	6235	Candle Holders	Franc Candle Holder - Sm - Maple	Maple	7" H x 4" DIA	\$37.50	4	\$75.00	\$75.00	\$63.75	-
Parent l	6236	Candle Holders	Franc Candle Holder - Sm - Cherry	Cherry	7" H x 4" DIA	\$37.50	4	\$75.00	\$75.00	\$63.75	-
1	6237	Candle Holders	Franc Candle Holder - Sm - Walnut	Black Walnut	7" H x 4" DIA	\$45.00	4	\$90.00	\$90.00	\$76.50	-
jessesse	6238	Candle Holders	Franc Candle Holder - Lg - Maple	Maple	16" H x 4" DIA	\$69.00	4	\$138.00	\$138.00	\$117.30	_
	6239	Candle Holders	Franc Candle Holder - Lg - Cherry	Cherry	16" H x 4" DIA	\$69.00	4	\$138.00	\$138.00	\$117.30	-
	6240	Candle Holders	Franc Candle Holder - Lg - Walnut	Black Walnut	16" H x 4" DIA	\$89.00	4	\$178.00	\$178.00	\$151.30	-
1	4240C	Candle Holders	Bella Candle Holder	Cream Gloss Ceramic, Brass	8" H x 3 " DIA	-	-	\$118.00	\$118.00	\$100.30	-
	4240D	Candle Holders	Bella Candle Holder	Dove Ceramic, Brass	8" H x 3 " DIA	-	-	\$118.00	\$118.00	\$100.30	-
1	4240F	Candle Holders	Bella Candle Holder	Fog Ceramic, Brass	8" H x 3 " DIA	-	-	\$118.00	\$118.00	\$100.30	-
I	42400	Candle Holders	Bella Candle Holder	Olivine Ceramic, Brass	8" H x 3 " DIA	-	-	\$118.00	\$118.00	\$100.30	-
1	4240RE	Candle Holders	Bella Candle Holder	Robin's Egg Ceramic, Brass	8" H x 3 " DIA	-	-	\$118.00	\$118.00	\$100.30	-
1	4240AB	Candle Holders	Bella Candle Holder	Cream Gloss Ceramic, Brass	8" H x 3 " DIA	-	-	\$118.00	\$118.00	\$100.30	-

8	4239C	Candle Holders	Beau Candle Holder	Cream Gloss Ceramic, Brass	8" H x 3 " DIA	-	-	\$118.00	\$118.00	\$100.30	_
2	4239D	Candle Holders	Beau Candle Holder	Dove Ceramic, Brass	5½" H x 3¼" DIA	-	-	\$118.00	\$118.00	\$100.30	-
	4239F	Candle Holders	Beau Candle Holder	Fog Ceramic, Brass	5½" H x 3½" DIA			\$118.00	\$118.00	\$100.30	
8	4239R	Candle Holders	Beau Candle Holder	Robin's Egg Ceramic, Brass	5½" H x 3¼" DIA			\$118.00	\$118.00	\$100.30	
2	4239O	Candle Holders	Beau Candle Holder	Olivine Ceramic, Brass	5½" H x 3½" DIA	-	-	\$118.00	\$118.00	\$100.30	-
	4239A	Candle Holders	Beau Candle Holder	Almost Black Ceramic, Brass	5½" H x 3¼" DIA	-	=	\$118.00	\$118.00	\$100.30	-
6	4237C	Candle Holders	Bobbi Candle Holder	Cream Gloss Ceramic, Brass	5" H x 31/4" DIA	-	=	\$95.00	\$95.00	\$80.75	-
6	4237D	Candle Holders	Bobbi Candle Holder	Dove Ceramic, Brass	5" H x 3½" DIA	-	-	\$95.00	\$95.00	\$80.75	-
	4237F	Candle Holders	Bobbi Candle Holder	Fog Ceramic, Brass	5" H x 31⁄4" DIA	-	-	\$95.00	\$95.00	\$80.75	-
6	4237RE	Candle Holders	Bobbi Candle Holder	Robin's Egg Ceramic, Brass	5" H x 3½" DIA	-	-	\$95.00	\$95.00	\$80.75	-
6	42370	Candle Holders	Bobbi Candle Holder	Olivine Ceramic, Brass	5" H x 3½" DIA	-	-	\$95.00	\$95.00	\$80.75	-
•	4237AB	Candle Holders	Bobbi Candle Holder	Almost Black Ceramic, Brass	5" H x 31/4" DIA	-	=	\$95.00	\$95.00	\$80.75	-
	4238D	Candle Holders	Sabine Candle Holder	Dove Ceramic, Brass	5" H x 3½" DIA	-	-	\$128.00	\$128.00	\$108.80	-
7	4238C	Candle Holders	Sabine Candle Holder	Cream Ceramic, Brass	5" H x 31⁄4" DIA	-	-	\$128.00	\$128.00	\$108.80	-
	4238BL	Candle Holders	Sabine Candle Holder	Blush Ceramic, Brass	5" H x 3½" DIA	-	-	\$128.00	\$128.00	\$108.80	-
	6220	Mirrors	Sophia Mirror Lg - Maple	Maple	42" H x 26¾" DIA x 1" D	\$325.00	2	\$650.00	\$650.00	\$552.50	\$390.00
Ġ	6221	Mirrors	Sophia Mirror Lg - Walnut	Black Walnut	42" H x 26%" DIA x 1" D	\$357.50	2	\$715.00	\$715.00	\$607.75	\$429.00

Ġ	6222	Mirrors	Sophia Mirror Md - Maple	Maple	29" H x 18½ " DIA x 1" D	\$210.00	2	\$420.00	\$420.00	\$357.00	\$252.00
Ġ	6223	Mirrors	Sophia Mirror Md - Walnut	Black Walnut	29" H x 18½ " DIA x 1" D	\$235.00	2	\$470.00	\$470.00	\$399.50	\$282.00
$\bigcirc$	6528	Mirrors	Fairmount Long Oval Mirror	Tan Leather	38" H x 20" W	\$462.50	2	\$925.00	\$925.00	\$786.25	\$555.00
0	6529	Mirrors	Fairmount Wide Oval Mirror	Tan Leather	22¼" H x 35¼" W	\$462.50	2	\$925.00	\$925.00	\$786.25	\$555.00
$\Diamond$	6530	Mirrors	Fairmount Round Mirror	Tan Leather	17¼" H x 15" DIA	\$212.50	2	\$425.00	\$425.00	\$361.25	\$255.00
$\bigcirc \bigcirc$	6527	Mirrors	Fairmount Mirror Collection	Tan Leather	Assorted Sizes	\$1,137.50	1	\$2,275.00	\$2,275.00	\$1,933.75	\$1,365.00
$\bigcirc$	6528B	Mirrors	Fairmount Long Oval Mirror	Black Leather	38" H x 20" W	\$462.50	2	\$925.00	\$925.00	\$786.25	\$555.00
	6529B	Mirrors	Fairmount Wide Oval Mirror	Black Leather	22¼" H x 35¼" W	\$462.50	2	\$925.00	\$925.00	\$786.25	\$555.00
$\bigcirc$	6531B	Mirrors	Fairmount Round Mirror	Black Leather	17¼" H x 15" DIA	\$212.50	2	\$425.00	\$425.00	\$361.25	\$255.00
0,0	6527B	Mirrors	Fairmount Mirror Collection	Black Leather	Assorted Sizes	\$1,137.50	1	\$2,275.00	\$2,275.00	\$1,933.75	\$1,365.00
0	9400-M	Hardware	Peggy Single - Maple	Maple, Leather	4½" x 2¼" x ½"   Peg 1¾" D	\$18.00	6	\$36.00	\$36.00	\$30.60	-
	9400-W	Hardware	Peggy Single - Walnut	Black Walnut, Leather	4½" x 2½" x ½"   Peg 1¾" D	\$18.00	6	\$36.00	\$36.00	\$30.60	-
0	9401-M	Hardware	Peggy Double - Maple	Maple, Leather	6½ " x 2¼" x 5"   Pegs 1¾" D and 3¼"D	\$26.00	6	\$52.00	\$52.00	\$44.20	-
	9401-W	Hardware	Peggy Double - Walnut	Black Walnut, Leather	6½ " x 2¼" x 5"   Pegs 1¾" D and 3¼"D	\$26.00	6	\$52.00	\$52.00	\$44.20	-
3- 0- 8- 3- 0-	9402-M	Storage	Peggy Coat Rack - Maple	Maple, Leather	30" L x 4" H x 2.5" D	\$87.50	2	\$175.00	\$175.00	\$148.75	-
	9402-W	Storage	Peggy Coat Rack - Walnut	Black Walnut, Leather	30" L x 4" H x 2.5" D	\$92.50	2	\$185.00	\$185.00	\$157.25	-
	50071	Storage	Bloak Ladder - Medium	Oxidized Oak	Top: 16½" W x Base: 24½" W   72"H	\$287.50	2	\$575.00	\$575.00	\$488.75	\$345.00

	5094	Storage	Bloak Ladder - Skinny	Oxidized Oak	Top: 13" W x Base: 21"   84" H	\$287.50	2	\$575.00	\$575.00	\$488.75	\$345.00
	5095	Storage	Bloak Ladder - XL Wide	Oxidized Oak	Top: 25½" W x Base: 32½" W   83½" H	\$317.50	2	\$635.00	\$635.00	\$539.75	\$381.00
H	50071-BLK	Storage	Bloak Ladder - Medium	Ink, Oak	Top: 16½" W x Base: 24½" W   72"H	\$317.50	2	\$635.00	\$635.00	\$539.75	\$381.00
H	5094-BLK	Storage	Bloak Ladder - Skinny	Ink, Oak	Top: 13" W x Base: 21"   84" H	\$317.50	2	\$635.00	\$635.00	\$539.75	\$381.00
	5095-BLK	Storage	Bloak Ladder - XL Wide	Ink, Oak	Top: 25½" W x Base: 32½" W   83½" H	\$332.50	2	\$665.00	\$665.00	\$565.25	\$399.00
*	6171	Kitchen	Hans Dust Pan	Brass, Maple, Tan Leather	16" Total Length x 10" W x 7¾" H, Handle 4¼" L	-	-	\$140.00	\$140.00	\$119.00	-
	6169B	Kitchen	Barn Broom	Black	55" L	\$37.50	6	\$75.00	\$75.00	\$63.75	-
	6169T	Kitchen	Barn Broom	Black Tipped	55" L	\$37.50	6	\$75.00	\$75.00	\$63.75	-
	6169N	Kitchen	Barn Broom	Natural	55" L	\$37.50	6	\$75.00	\$75.00	\$63.75	-
Â	6168B	Kitchen	Whisk Broom	Black	13" L	\$15.00	6	\$30.00	\$30.00	\$25.50	-
À	6168BT	Kitchen	Whisk Brom	Black Tipped	13" L	\$15.00	6	\$30.00	\$30.00	\$25.50	-
	6168N	Kitchen	Whisk Broom	Natural	13" L	\$15.00	6	\$30.00	\$30.00	\$25.50	-
	6310	Storage	Piper Mail Holder	Oak, Tan Leather	10" x 10½" x 5%"   Key Holder 2¾" H	-	-	\$245.00	\$245.00	\$208.25	-
	6311	Storage	Cameron Letter Holder	Oak, Tan Leather	34" H x 5½ " W	-	-	\$195.00	\$195.00	\$165.75	-
ð	9501-SB	Hardware	Roland Toilet Paper Holder	llack Powder Coated Iron, Mapl	7" L x 4½" W x 1½" H	\$27.50	6	\$55.00	\$55.00	\$46.75	-
<b></b>	9501-LB	Hardware	Roland Paper Towel Holder	lack Powder Coated Iron, Mapl	14" L x 1¼" W x 4¾" H	\$32.50	6	\$65.00	\$65.00	\$55.25	-
	9501-MB	Hardware	Roland Towel Bar - Large	lack Powder Coated Iron, Mapl	26" L x 1¼" W x 4¾" D	\$47.50	6	\$95.00	\$95.00	\$80.75	-

ф	9503-HS-BLK	Hardware	Roland Hook - Small	Black Powder Coated Iron	3½" L x 1¾" W x 2½" H	\$15.00	6	\$30.00	\$30.00	\$25.50	-
ф	9503-HL-BLK	Hardware	Roland Hook - Large	Black Powder Coated Iron	4" L x 2.25" W x 2.25" H	\$17.50	6	\$35.00	\$35.00	\$29.75	-
ф	9503-HXL-BLK	Hardware	Roland Hook - Jumbo	Black Powder Coated Iron	7" L x 4.25" W x 3.25" H	\$22.50	6	\$45.00	\$45.00	\$38.25	-
Ç.	9501-SW	Hardware	Roland Toilet Paper Holder	White Powder Coated Iron, Maple	7" L x 4½" W x 1½" H	\$27.50	6	\$55.00	\$55.00	\$46.75	-
4	9502-LW	Hardware	Roland Paper Towel Holder	White Powder Coated Iron, Maple	14" L x 1¼" W x 4¾" H	\$32.50	6	\$65.00	\$65.00	\$55.25	-
	9502-MW	Hardware	Roland Towel Bar - Large	White Powder Coated Iron, Maple	26" L x 1¼" W x 4¾" D	\$47.50	6	\$95.00	\$95.00	\$80.75	-
	9503-HW-WHT	Hardware	Roland Hook - Small	White Powder Coated Iron	3½" L x 1¾" W x 2¼" H	\$15.00	6	\$30.00	\$30.00	\$25.50	-
	9503-HL-WHT	Hardware	Roland Hook - Large	White Powder Coated Iron	4" L x 2.25" W x 2.25" H	\$17.50	6	\$35.00	\$35.00	\$29.75	-
Ġ	9503-HXL-WHT	Hardware	Roland Hook - Jumbo	White Powder Coated Iron	7" L x 4.25" W x 3.25" H	\$22.50	6	\$45.00	\$45.00	\$38.25	-
silandi	9501-S	Hardware	Roland Toilet Paper Holder	Brass, Maple	7" L x 4¼" W x 1¼" H	\$27.50	6	\$55.00	\$55.00	\$46.75	-
-	9501-LB	Hardware	Roland Paper Towel Holder	Brass, Maple	14" L x 1¼" W x 4¾" H	\$32.50	6	\$65.00	\$65.00	\$55.25	-
ф	9503-HS	Hardware	Roland Hook - Small	Brass	3½" L x 1¾" W x 2¼" H	\$15.00	6	\$30.00	\$30.00	\$25.50	-
ф	9503-HL	Hardware	Roland Hook - Large	Brass	4" L x 2.25" W x 2.25" H	\$17.50	6	\$35.00	\$35.00	\$29.75	-
ф	9503-HXL	Hardware	Roland Hook - Jumbo	Brass	7" L x 4.25" W x 3.25" H	\$22.50	6	\$45.00	\$45.00	\$38.25	-
•	9501-SM	Hardware	Roland Toilet Paper Holder	Mustard Powder Coated Iron, Maple	7" L x 4½" W x 1½" H	\$27.50	6	\$55.00	\$55.00	\$46.75	-
	9501-LM	Hardware	Roland Paper Towel Holder	Mustard Powder Coated Iron, Maple	14" L x 1¼" W x 4¾" H	\$32.50	6	\$65.00	\$65.00	\$55.25	-
	9503-HS-MS	Hardware	Roland Hook - Small	Mustard Powder Coated Iron	3½" L x 1¾" W x 2¼" H	\$15.00	6	\$30.00	\$30.00	\$25.50	-
	9503-HL-MS	Hardware	Roland Hook - Large	Mustard Powder Coated Iron	4" L x 2.25" W x 2.25" H	\$17.50	6	\$35.00	\$35.00	\$29.75	-
						_			_		_

ф	9503-HXL-MS	Hardware	Roland Hook - Jumbo	Mustard Powder Coated Iron	7" L x 4.25" W x 3.25" H	\$22.50	6	\$45.00	\$45.00	\$38.25	-
$\Longrightarrow$	9501-SS	Hardware	Roland Toilet Paper Holder	Smoke Coated Iron, Maple	7" L x 4½" W x 1½" H	\$27.50	6	\$55.00	\$55.00	\$46.75	-
<del></del>	9501-LS	Hardware	Roland Paper Towel Holder	Smoke Coated Iron, Maple	14" L x 1¼" W x 4¾" H	\$32.50	6	\$65.00	\$65.00	\$55.25	-
ф	9503-HW-SM	Hardware	Roland Hook - Small	Smoke Coated Iron	3½" L x 1¾" W x 2¼" H	\$15.00	6	\$30.00	\$30.00	\$25.50	-
<b>Å</b>	9503-HL-SM	Hardware	Roland Hook - Large	Smoke Coated Iron	4" L x 2.25" W x 2.25" H	\$17.50	6	\$35.00	\$35.00	\$29.75	-
ф	9503-HXL-SM	Hardware	Roland Hook - Jumbo	Smoke Coated Iron	7" L x 4.25" W x 3.25" H	\$22.50	6	\$45.00	\$45.00	\$38.25	-
	7103	Hardware	Ludlow Towel Ring	Brass, Tan Leather	Ring: 7½" DIA   Tab: 3" L x 1" W x 9" H	\$19.00	6	\$38.00	\$38.00	\$32.30	-
	7103B	Hardware	Ludlow Towel Ring	Brass, Black Leather	Ring: 7½" DIA   Tab: 3" L x 1" W x 9" H	\$19.00	6	\$38.00	\$38.00	\$32.30	-
911	9501-6	Hardware	Wendel Wire Pull 6" - Single	Brass	6° L	\$11.00	12	\$22.00	\$22.00	\$18.70	-
	9501-8	Hardware	Wendel Wire Pull 8" - Single	Brass	8" L	\$12.00	12	\$24.00	\$24.00	\$20.40	-
•—•	9501-6B	Hardware	Wendel Wire Pull 6" - Single	Black Coated Brass	6" L	\$11.00	12	\$22.00	\$22.00	\$18.70	-
•——•	9501-8B	Hardware	Wendel Wire Pull 8" - Single	Black Coated Brass	8" L	\$12.00	12	\$24.00	\$24.00	\$20.40	-
5	7105	Hardware	Carter Peg and Hook	Brass, Oak	Peg: 2¾" DIA x 1" H   Hook: 8" L x 3¼" W	\$22.00	6	\$44.00	\$44.00	\$37.40	-
•	9500-J	Hardware	Jeanne Leather Pull - Diamond, Single	Tan Leather	6" L x 1" W	\$19.00	12	\$38.00	\$38.00	\$32.30	-
	9500-G	Hardware	George Leather Pull - Circle, Single	Tan Leather	6" L x 1" W	\$19.00	12	\$38.00	\$38.00	\$32.30	-
• 100	9500-R	Hardware	Roger Leather Pull - Bow Tie, Single	Tan Leather	6" L x 1" W	\$19.00	12	\$38.00	\$38.00	\$32.30	-
•	9500-JBLK	Hardware	Jeanne Leather Pull - Diamond, Single	Black Leather	6" L x 1" W	\$19.00	12	\$38.00	\$38.00	\$32.30	-

	9500-GBLK	Hardware	George Leather Pull - Circle, Single	Black Leather	6" L x 1" W	\$19.00	12	\$38.00	\$38.00	\$32.30	-	
• 54	9500-RBLK	Hardware	Roger Leather Pull - Bow Tie, Single	Black Leather	6" L x 1" W	\$19.00	12	\$38.00	\$38.00	\$32.30	-	